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NEW QUESTION 1
What are two benefits of network automation? (Choose two)

A. reduced operational costs

B. reduced hardware footprint

C. faster changes with more reliable results
D. fewer network failures

E. increased network security

Answer: AC

NEW QUESTION 2
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FC00::/7
D. FF02::1
E. FF02::2

Answer: DE

NEW QUESTION 3
Which two capacities of Cisco DNA Center make it more extensible? (Choose two)

A. adapters that support all families of Cisco 10S software

B. SDKs that support interaction with third-party network equipment

C. customized versions for small, medium, and large enterprises

D. REST APIs that allow for external applications to interact natively with Cisco DNA Center
E. modular design that is upgradable as needed

Answer: BD

NEW QUESTION 4
Refer to the exhibit.

.
== 10.10.11.0/30

A 2 1 |
>%— 10 10 10.0/28 —E—
— T~ 21010120130 : i

g ' | o J Router1 Switch1

Routeri#show ip route
Gateway of last resorl is 10.10.11.2 to network 0.0.0.0

209165 200.0/27 15 subnetted, 1 subnets

B 200 165200224 [20/0] wa 101012 2, 03-22-14
209 165 201 W27 s subnetted, 1 subnets

B 209.165.201.0 [20/0] via 10.10.12.2, 02.26:33
2091652020727 is subnetted. 1 subnets

B 209 165202128 [20/0] via 10.10.12.2, 02:26:03

10.10 0/28 s directly connected, GigabitEthemet(/0

10.11.0/30 is directly connected, FastEthernet2/0

10.12.0730 s directly connected. GigabitEthermet(/1

10.13.0/25 [110/2] via 10.10.10.1, 00:00:04, GigabitEthernet(/0

0 1013 12828 [110/2] wa 10 10 10 1, 00-00-04, GigabtEthemet(/0
10 10 13.144/28 [110/2] via 10 10.10 1, 00:00:04, GigabdEthemet(/0
10.10.13.180/29 [110/2] via 10.10.10.1, 00.00.04, GigabilEthernetd/0
0.10.13.208729 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemet0/0
* 0000/0[1/0]wa 10.10.11.2

= =

Which prefix does Router 1 use for traffic to Host A?

r?‘,.-""‘

oo oooOO OO0
i

A.10.10.10.0/28
B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 5
in Which way does a spine and-leaf architecture allow for scalability in a network when additional access ports are required?
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A. A spine switch and a leaf switch can be added with redundant connections between them
B. A spine switch can be added with at least 40 GB uplinks

C. A leaf switch can be added with a single connection to a core spine switch.

D. A leaf switch can be added with connections to every spine switch

Answer: D

NEW QUESTION 6
Which two actions are performed by the Weighted Random Early Detection mechanism? (Choose two)

A. It drops lower-priority packets before it drops higher-priority packets
B. It can identify different flows with a high level of granularity

C. It guarantees the delivery of high-priority packets

D. It can mitigate congestion by preventing the queue from filling up

E. IT supports protocol discovery

Answer: BD

NEW QUESTION 7
Refer to the exhibit.

ip arp inspaction wlan 2
intarface fastathernet 0/1
switchporf mode AcCCess

switchpart access vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

NEW QUESTION 8
A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two)

A. runts

B. giants

C. frame
D.CRC

E. input errors

Answer: DE

NEW QUESTION 9
How do TCP and UDP differ in the way that they establish a connection between two endpoints?

A. TCP uses synchronization packets, and UDP uses acknowledgment packets.

B. UDP uses SYN, SYN ACK and FIN bits in the frame header while TCP uses SYN, SYN ACK and ACK bits
C. UDP provides reliable message transfer and TCP is a connectionless protocol

D. TCP uses the three-way handshake and UDP does not guarantee message delivery

Answer: D

NEW QUESTION 10

When OSPF learns multiple paths to a network, how does it select a route?

A. It multiple the active K value by 256 to calculate the route with the lowest metric.

B. For each existing interface, it adds the metric from the source router to the destination to calculate theroute with the lowest bandwidth.

C. It divides a reference bandwidth of 100 Mbps by the actual bandwidth of the existing interface to calculate the router with the lowest cost.
D. It count the number of hops between the source router and the destination to determine the router with the lowest metric

Answer: A

NEW QUESTION 10

Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.
A. dual algorithm

B. metric

C. administrative distance

D. hop count

Answer: D
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NEW QUESTION 15

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the

administrative distance of the route that will be installed in the routing table?
A. 20

B. 90

C. 110

D. 115

Answer: B

NEW QUESTION 17

Drag and drop the network protocols from the left onto the correct transport services on the right.

IConnection Onented
SMTP
SNMP
TETP
IConnectioniess
SSH
ETP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
[Connection Onented
SMTP l |
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NEW QUESTION 18
What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded

D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 20

Refer to the exhibit.

R2#show ip nat translations
Pro Inside global
tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

Inside local Outside local

Outside global

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?

A.10.4.4.4
B.10.4.4.5

C.172.23.103.10

D. 172.23.104.4

Answer: C

NEW QUESTION 21

Refer to the exhibit.

152

= 0®0O

L1 182

182 .
192.

168
168

168

Elf show ip routas

16.0/26

L16.0/24
168.

16.0/21
l&6.0/27

[90/2675326) wia 152 . 168.1.1
[120/3] wvia 1592 .168.1.2
[110/2] via 1%2.168.1.3
[115/30) via 192 1l68.1.4

Which route does R1 select for traffic that is destined to 192 168.16.27

A. A-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 22

Refer to the exhibit.
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Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (D) 10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor countis 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 25

Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?

A. Bronze

B. Platinum

C. Silver

D. Gold

Answer: B

NEW QUESTION 28

Two switches are connected and using Cisco Dynamic Trunking Protocol SW1 is set to Dynamic Desirable What is the result of this configuration?
A. The link is in a down state.

B. The link is in an error disables state

C. The link is becomes an access port.

D. The link becomes a trunk port.

Answer: D

NEW QUESTION 30

Which action is taken by a switch port enabled for POE power classification override?

A. When a powered device begins drawing power from a PoE switch port a syslog message is generated

B. As power usage on a PoE switch port is checked data flow to the connected device is temporarily paused

C. If a switch determines that a device is using less than the minimum configured power it assumes the device has failed and disconnects

D. If a monitored port exceeds the maximum administrative value for power, the port is shutdown and err-disabled

Answer: C

NEW QUESTION 33
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Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 36
When a floating static route is configured, which action ensures that the backup route is used when the primary route fails?

A. The floating static route must have a higher administrative distance than the primary route so it is used as a backup
B. The administrative distance must be higher on the primary route so that the backup route becomes secondary.

C. The floating static route must have a lower administrative distance than the primary route so it is used as a backup
D. The default-information originate command must be configured for the route to be installed into the routing table

Answer: A

NEW QUESTION 40
What makes Cisco DNA Center different from traditional network management applications and their management of networks?

A. It only supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an organization
C. IT abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Answer: A

NEW QUESTION 45
Which network allows devices to communicate without the need to access the Internet?

A.1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 46
Refer to the exhibit.

e ~~—_ Routert Router2 —— g

Router2#show ip route
Gateway of last resort is not set

10.0.0.0/8 is vanably subnetted, 4 subnets, 2 masks
10.10.10.8/30 is directly connected. FastEthernet/2

C 10.10.10 12730 15 directlty connected, FastEthemet(l

O 10.10.13.0/25[110/11] via 10.10.10.9, 00:00.03, FastEthemet/2
[110/11] via 10.10.10.13, 00:00:03, FastEthermnet(/1

C 10 1010 473015 directly connected, FastEthermet(’?2

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 47

When a site-to-site VPN is used, which protocol is responsible for the transport of user data?
A. IKEv2

B. IKEv1
C. IPsec
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D. MD5

Answer: C

NEW QUESTION 50

Which mode must be used to configure EtherChannel between two switches without using a negotiation protocol?
A.on

B. auto

C. active

D. desirable

Answer: D

NEW QUESTION 52
Drag and drop the WLAN components from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
51
1:2
2:4
4:3
35

NEW QUESTION 53
Which statement about Link Aggregation when implemented on a Cisco Wireless LAN Controller is true?

A. To pass client traffic two or more ports must be configured.
B. The EtherChannel must be configured in "mode active"
C. When enabled the WLC bandwidth drops to 500 Mbps
D. One functional physical port is needed to pass client traffic

Answer: C

NEW QUESTION 54
When configuring a WLAN with WPA2 PSK in the Cisco Wireless LAN Controller GUI, which two formats are available to select? (Choose two)

A. ASCII

B. base64

C. binary

D. decimal

E. hexadecimal

Answer: AE

NEW QUESTION 57
Drag and drop the functions from the left onto the correct network components on the right
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DHCP Server

hoids the TCP/IP setungs 1o D¢ dstnbuted to the dents

resolves web URLs to IP aogresses

stores a kst of TP addresses mapped to names

255005 3 0efault gateway 10 3 Chent

DNS Server
assgns [P addresses to enabed Chents

A. Mastered
B. Not Mastered
Answer: A
Explanation:

_— - e e s DHCP Server

1 I
hoids the TCP/IP serhngs to be dstnbuted to the chents | | hoigs the TCP'IP semngs 10 De dtnbDutad to the Chents

T e T e e L T T T e T

resohves web URLs T [P aodresses | 1 resoives web URLs to IP addresses

stores 2 kst of TP addresses mapped 1o names

i
=
assgns 3 02fault gateway 10 3 Chent I
stores 3 bst of [P addresses mapped to names I
sss.gns TP addresses to enabled Chents

25005 3 Jefaut gateway 10 3 Chent

NEW QUESTION 62
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